Splashlearn

Shopping Multiplication

Solve the following word problems.

If a toy car costs $7 and Jenny wants to buy 4 of
them for her cousins, how much will she spend in
total?

Each box of chocolates costs $9. How much would
6 boxes cost?

John wants to buy 5 t-shirts. If each t-shirt costs
$8, how much will he spend?

If each apple costs $2 and you buy 3 apples, how
much will you spend?

A book costs $6. How much would it cost to buy 7
books?

If a pencil costs $1 and you want to buy 9 pencils,
how much will it cost?

A toy costs $5. How much would it cost to buy 4
toys?

If a notebook costs $3 and you want to buy 8
notebooks, how much will it cost?

A pair of socks costs $4. How much would it cost to
buy 5 pairs?

10 If a bottle of juice costs $6 and you want to buy 3
‘bboﬂles, how much will it cost?

oM
A

L

www.splashlearn.com




